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OR PROBLEM 2
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ar all;close allj;clc;
1 path integral

] 13 : Fay 1)
gAaU parametrrcarty =UFry (U<=y<=1)

z)=y

S .A\-.
tAO=int (i*y"2,1,0);
g OB parametrically z=x+i (0<=x<=1)

z)=(1-x-13x"2)
tOB=int (-x,0,1);

1 contour integral result
tCl=fintAO+fintOB

o)

Tﬂ._.u.dD .._.:._.uﬂ(.r alt
2 denotes segment AB of the line y=x,

rametric representation z=x+i

O<=x<=1)
tC2=int (((1-x)"2-x+4*i*x* (1-x))*(1-1i),0,1)

tal = fintCl - fintC2
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R_PROBLEM 3

r all;close all;clc;
t;

1;

2;

ntour path AB
double (int ((-i*t"2/(i*t-a) "2/ (i*t-b)),3,-3))

ntour path BC

double (int ((3* (1+1)*9*(t=1*(1-t)) (3*(t=1*(1=-t))=a) (3*(t=1*(1=t))=b)),0,1))

ntour path CA

double (int ((3* (1-1i)*9* (t+i* (1-t)) "2/ (3* (t+i*(1-t))-a) 2/ (3*(t+i*(1-t))-b)),1,0))

al Integral
Cl+C2+C3




